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the title page of the answer-book.
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e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.

¢ Please write down the Serial Number of the question before attempting it.
15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  All questions in both the sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Questions No.1-3 and 15-19 are very short-answer questions carrying 1 mark each.

They are required to be answered in one sentence each.

(iv) Questions No. 4-8 and 20-22 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

(v) Questions No. 9-10 and 23-25 are also short-answer questions carrying 4 marks

each. Answers to them should normally not exceed 70 words each.

(vi) Questions No. 11-14 and 26-29 are long-answer questions carrying 6 marks each.

Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be

adhered to as far as possible.

Qug — [
Section — A
1. UH o] ! AT o6 DD' ¥ fags # dd' & S ¢ | 1
Y p d

®) )

\D' g
O mim g
THH FROT : (Tt faewoa gw)

(a) T I T FH T & FhAT € |

(b) o !PT T & T & |

(c) IO o] i BT ST &l Tehal & |

(d) TR ] I HIEd T & ThaT & |
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The demand curve of a goods shifts from DD’ to dd'.

/ d
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0 X
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This shift can be caused by : (Choose the correct alternative)
(a) fall in the price of the goods.

(b) rise in the price of the goods.

(c) rise in the price of substitute goods.

(d) rise in the price of complementary goods.

2. TS I Pl 5 THEAT SO U Fol I (3TFH) T 100 & | 6 THEAT S UX HHTT o

T 8T | 6 IHTAT THg iHd W = ST & 2 (e faehen gHw) 1
(a) 28 Ul
(b) ¥ 20 U HE
(c) 18Ul sHrE
(d) 129 s

When 5 units of a goods are sold, total revenue is ¥ 100. When 6 units are sold,
marginal revenue is ¥ 8. At what price are 6 units sold ? (Choose the correct

alternative)

(a) I 28 per unit
(b) %20 per unit
(c) I 18 per unit
(d) T 12 per unit

3. IS U MM U GIRT 519k gRT TR TR % ITHNT ! WicdTed F Tl & | 1

Suggest any one economic measure by which the government can promote

consumption of ‘Khadi’.
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4, T AR I BN A BT GHEIST B GHEAT HET TSaT & ? 30 S b oW HROT
T | 3

Do rich countries also face central problems ? Give reasons for your answer.

5. ST 3R HYHR T 31T 91 b STb! SclTa THIEAT T (3756) T TRITS Sht AT HifoTT | 3
Explain the effects of floods in Jammu and Kashmir on its production possibilities
frontier.

6. YRT WHN FS I o [oT0 T Goo© F1 FEiie et & 2 THemey | 3
Why does the government of India fix ‘support price’ for some crops ? Explain.

7. U1 UIGAMTT % ST A Uk WH SITd-TelhRe” Bt §, ‘ShAd-FEReE Tel 2 Tueey | 3

AT
3G Tl TR-SHrAd U [T St = i | 3
Why is a firm under perfect competition a ‘price-taker’ and not a ‘price-maker’ ?
Explain.
OR
Explain ‘non-price competition’ feature of oligopoly.
8. Frefciad o Wl ¢ A1 T | 370 3T o oTq RO R0 | 3

(a) T SR % @R EH WX G IS T4 |

(b) THE AT o Sg U & ST AT S |

State whether the following statements are true or false. Give reasons for your

answer.
(a) When total product is constant average product will fall.

(b)  Average cost will rise only when marginal cost rises.

58/1/1 4

http://www.a2zsubjects.com



http://www.a2zsubjects.com

[a¥a

9. I B BT R HT H fawRid gy fag T | STRTAT fowetsor 1 Sy i | 4

AT

T ! ShIFd oI bl THITAT hi et fohel 3T ST i AT SHIST |

Show that price and demand of a commodity are inversely related ? Use utility

analysis.
OR

Explain any two factors that affect price elasticity of demand.

10. I ! ‘ISR GOT Sl GRS ST | ZHeh! T R aTel R Fdmey | 4

Define ‘market demand’ for a goods. State the factors that affect it.

11. SRS & o o I THey | 6
e

TrefoTitad o = gy BT & 2

(a) T S (3T 31X 3fae Huf,

(b) et TuITE 3T HHT=T T

Explain the conditions of producer’s equilibrium.
OR

What is the relationship between :

(a) Marginal revenue and Average revenue

(b) Total revenue and Marginal revenue

[aYaY

12. uRadt 3T & = i W SeTs 31K el SIS 3kt i FeTadl I ST BT | 6

Explain the law of variable proportions with the help of marginal product and total

product curves.
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FrfettEd T et gftede wdieniomt & fau ues g 12 FRH W

Rl ST BT 2| U TfeishT st TeTaar § GHeey |

The following question is for the Blind Candidates only in lieu of Q. No. 12.

Explain the law of variable proportions with the help of a schedule.

13. SO e H U ST | SHEEE o5 [aveluer % S gHehl It i e
HIT | 6

Define consumer’s equilibrium. Explain its conditions under indifference curve

analysis.

14, A 9% % ISR GqeH @i ffd § & | 39! ST 1 A 9g STt & | Tk {@irest

TRl ¥ Tqer T, H-HTET 31X OfQ-97ET 1) 396k TTa 3t et Sl ST i | 6

The market for commodity A is in equilibrium. The price of its inputs rises. Explain
its chain of effects on equilibrium price, quantity demanded and supplied with the

help of a diagram.

FreAfettEd Tee et gfted wdieniort & fow ue 9= 14 FRH W

TS % I HT-3MMHRT T 37 JaRy | For HAd, HT-AET 3R gid-A6T 0 39 wEr

[aYaY

i G I AR HINT |

The following question is for the Blind Candidates only in lieu of Q. No. 14.

Give the meaning of ‘excess demand’ of a commodity. Explain its chain of effects on

equilibrium price, quantity demanded and quantity supplied.
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Section - B

15. FeAfefad o 9 & a1 TcgeT S 1 SIel € 2 (Wl fohed gin) 1

(a) SR Yoh ST grrd Y
(b) T HT 3] 3T

(c) STRT Yok 3 Jar HT
(d) T AT AT T

Which one of the following is a combination of direct taxes ? (Choose the correct

alternative)

(a) Excise duty and Wealth tax
(b) Service tax and Income tax
(c) Excise duty and Service tax

(d) Wealth tax and Income tax

16. 3T U % T Tarey | 1

State the components of money supply.

17. fr=feriad w5 9§ &9 91 9@ ¢ 2 1

(a) ol = 3R Pl W T 37T IASTRIU =T Bl & |

(b) A WMAAT 3R AT T T SR WA =T B & |

(c) TISThIE el WAt 1S 31T AT S 1 IHT Bl & |

Which of the following statements is true ?

(a) Fiscal deficit is the difference between total expenditure and total receipts.
(b) Primary deficit is the difference between total receipt and interest payments.

(c) Fiscal deficit is the sum of primary deficit and interest payment.
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18. fefeiiad # 9 F o1 v el ¢ 2 (el foshed 9fn) 1
(@) TS
(b) =
(c) Fremr
(d) fogmEE

Which of the following is not a flow ? (Choose the correct alternative)
(a) Capital

(b) Income

(¢) Investment

(d) Depreciation

19. frfefea & 9 ®F o1 g1 *1 FE T € 2 (@@ fawer 9 1
(a) Tarma o1 Orem
(b) ma feErar
(c) ToaHH
(d) i@ THE

Which of the following is not a function of money ? (Choose the correct alternative)
(a) medium of exchange

(b) price stability

(c) store of value

(d) unit of account

20. freAfefad & o Ty g e 2 3
(a) 3TEd ST vgfa 3R e s vgr
(b) T 3T ygfa AR FareT ToTen

YT
fAfetEa =T 37 Jame
(a) 3T SRISTR, 3
(b) TR TR
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What is the relationship between :

(1)  Average propensity to consume and average propensity to save.

(i) Marginal propensity to consume and investment multiplier.
OR

Give the meaning of :

(1)  involuntary unemployment, and

(i1) inflationary gap

21. faqet g1 %t 6 & = S aial &1 auH S | 3

Describe any three sources of demand for foreign exchange.

22. FEA=-100+ 0.2 Y (37) | T8 Ueh e H I9d %o & | a9 =219 5,000 & | 37

% T TR B R I | 3
S =-100 + 0.2 Y is the saving function in an economy. Investment expenditure is
5,000. Calculate the equilibrium level of income.
23. fAfcfEd siehel @ HRE AT W HaeT Ted Fgig o TR HifTT : 4
(EEIR)
() o 300
(i)  URM9H Eiw 40
(i) e 30
(iv) ~ TEFerit SUwT 120
(v) TrEm 50
(vi) & H aEaH 20
(vii) Fae amcaet Y 15
(viii) ToreeTl =l HRE 3T 10
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From the following data, calculate net value added at factor cost.

(% in crores)

€) Sales 300
(11) Opening stock 40
(111)  Depreciation 30
(iv)  Intermediate consumption 120
(v) Exports 50
(vi)  Change in stock 20
(vii)  Net indirect taxes 15
(viil)  Factor income to abroad 10
24, AT IR IR SH TG H 9T HIT | Fedeh Tl Teh ST T | 4
YT

[a¥a

3T o TehIT T8 ohi AT il |

Distinguish between intermediate goods and final goods. Give an example of each.
OR

Explain the circular flow of income.

25. W AR FHRISH &g oH-4A1 § 9% HINT | 39 98 1 Hewe THeey | 4

Distinguish between autonomous and accommodating transactions of balance of

payments account. Explain the significance of this distinction.

o o o

26. AT R G o STEHMATS I HH H{A i SEYIHAT hl HNEAT HiST | [Hel & 12

SURT &1 AT ST (5eh §RT I8 {ohaT ST Fehell & | 6

Explain the need for reduction in inequalities of income and wealth. Explain any two

budgetary measures by which it can be done.
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27. A S % (el &Y = FAET Sl GUH HIT | 6
AT
o6 T T IR STIa | U7 9f il Sk UIfad it € 2 WHAET |
Describe any two main functions of a central bank.
OR
How do changes in Bank Rate affect the money supply in an economy ? Explain.
28. TEY HAT 3R THY Yid & SR A e H e 7 S uReeH gid €, SHh! St ST | 6
Explain the changes that take place when aggregate demand and aggregate supply are
not equal.
29. (a) T 3 3R (b) Tehel AL UAIST 37T T URheT HiToTT : 4,2
(% BTt )
() Ti et s = 500
(i)  THoet setar sreet oIt fetoT 100
(i) focen ¥ Mot ®RE 30
(iv) % | aie 20
(v)  Toer Fraa 40
(vi) et e 50
(vii) afare em 300
(vii) TR ST IO =T 200
(ix)  3T9eT YSIt ST SUIHT 60
(x)  Tocer o Haer =] g (-) 10
58/1/1 11 [P.T.O.

http://www.a2zsubjects.com



http://www.a2zsubjects.com

Calculate (a) national income and (b) gross national disposable income.

(% in crores)

(1) Private final consumption expenditure 500
(11) Net domestic fixed capital formation 100
(1i1) Net factor income from abroad 30
(iv) Change in stock 20
v) Net exports 40
(vi) Net indirect taxes 50
(vii) Mixed income 300
(viii)  Government final consumption expenditure 200
(1x) Consumption of fixed capital 60
(x) Net current transfers to abroad (=) 10
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